SECTION V

CONTRACT DOCUMENTS

<u>Table of Contents</u>	
PUBLIC CONSTRUCTION BOND	1
CONTRACT	4
CONSENT OF SURETY TO FINAL PAYMENT	8
PROPOSAL/BID BOND	9
AFFIDAVIT	10
NON-COLLUSION AFFIDAVIT	11
PROPOSAL	12
CITY OF CLEARWATER ADDENDUM SHEET	14
BIDDER'S PROPOSAL	15
SCRUTINIZED COMPANIES AND BUSINESS OPERATIONS WITH CUBA AND SYRIA	
CERTIFICATION FORM	17
SCRUTINIZED COMPANIES THAT BOYCOTT ISRAEL LIST CERTIFICATION FORM	18

	Bond No.:	
--	-----------	--

OWNER

PUBLIC CONSTRUCTION BOND

(1)

N/A Not applicable. A bond will not be required for this project.

This bond is given to comply with § 255.05, Florida Statutes, and any action instituted by a claimant under this bond for payment must be in accordance with the notice and time limitation provisions in subsections (2) and (10).

Pursuant to § 255.05(1)(b), Florida Statutes, "Before commencing the work or before recommencing the work after a default or abandonment, the contractor shall provide to the public entity a certified copy of the recorded bond. Notwithstanding the terms of the contract or any other law governing prompt payment for construction services, the public entity may not make a payment to the contractor until the contractor has complied with this paragraph."

SURETY

CONTRACTOR

CONTRICTOR	BURETT	OVIVER	
Inliner Solutions, LLC.	Everest Reinsurance Company	City of Clearwater Engineering	
2531 Jewett Ln	100 Everest Way,	100 S. Myrtle Avenue	
Sanford, FL 32771	Warren NJ 07059	Clearwater, FL 33756 (727) 562-4750	
(407) 472-0014	+1 (908) 604-3000		
PROJECT NAM	IE: 2023 Sewer Point Repair & Impr	ovement Project	
PROJECT NO.: 22-0006-UT			
Section A - Sanitary Sewer Trenchless Reconstruction			
Section B – Sewer Cleaning and Televising Inspection			
PROJECT DESCRIPTION : To establish a multi-year contract for as-needed services for Wastewater infrastructure improvements and repairs.			
BY THIS BOND, We,		, as Contractor, and ation, as Surety, are bound to the	
City of Clearwater, Florida, herein called Owner, in the sum of \$[x,xxx,xxx.xx], for payment of which we bind ourselves, our heirs, personal representatives, successors, and assigns, jointly and severally.			
THE CONDITION OF THIS BO	ND is that if Contractor:		
1. Performs the contract dat of the 2023 Sewer Point	ed, between Control Repair & Improvement Project, the	ractor and Owner for construction contract documents being made a	

part of this bond by reference (which include the Advertisement for Bids, Proposal, Contract, Surety Bond, Instructions to Bidders, General Conditions, Plans, Technical Specifications and

SECTION V – Contract Documents

- Appendix, and such alterations as may be made in said Plans and Specifications as therein provided for), at the times and in the manner prescribed in the contract; and
- 2. Promptly makes payments to all claimants, as defined in Section 255.05(1), Florida Statutes, supplying Contractor with labor, materials, or supplies, used directly or indirectly by Contractor in the prosecution of the work provided for in the contract; and

Bond No.:	
-----------	--

PUBLIC CONSTRUCTION BOND

(2)

N/A Not applicable. A bond will not be required for this project.

- 3. Pays Owner all losses, damages, expenses, costs, and attorney's fees, including appellate proceedings, that Owner sustains because of a default by Contractor under the contract; and
- 4. To the limits of § 725.06(2), Florida Statutes, shall indemnify and hold harmless Owner, their officers and employees, from liabilities, damages, losses and costs, including, but not limited to, reasonable attorney's fees, to the extent caused by the negligence, recklessness, or intentional wrongful misconduct of Contractor and persons employed or utilized by Contractor in the performance of the construction contract; and
- 5. Performs the guarantee of all work and materials furnished under the contract for the time specified in the contract, then this bond is void; otherwise it remains in full force.
- 6. Any action instituted by a claimant under this bond for payment must be in accordance with the notice and time limitation provisions in Section 255.05(2), Florida Statutes.
- 7. Any changes in or under the contract documents and compliance or noncompliance with any formalities connected with the contract or the changes does not affect Surety's obligation under this bond, and Surety does hereby waive notice of any such change, extension of time, alteration or addition to the terms of the contract or to the work or to the specifications.

IN TESTIMONY WHEREOF, witness the, 20	he hands and seals of the parties hereto this	day of
(If sole Ownership or Partnership, two (2) (If Corporation, Secretary only will attest of	• .	
	Inliner Solutions, LLC.	
	By: Title: Print Name:	
WITNESS:	WITNESS:	
Corporate Secretary or Witness Print Name:	Print Name:	
(affix corporate seal)	(Corporate Surety)	
	By: ATTORNEY-IN-FACT Print Name:	
	(affix corporate seal)	
	(Power of Attorney must be attached)	

CONTRACT

(1)

This CONTRACT made and ente	red into this day of .	, 2022_ by a	and between the City
of Clearwater, Florida, a municipa	l corporation, hereinafter	designated as the "City", a	and Inliner Solutions,
LLC, of the City of Sanford Co "Contractor".	unty of Seminole and S	State of Florida, hereinaft	er designated as the
[Or, if out of state:] NOT APP	PLICABLE		
This CONTRACT made and ente	red into this day of	. 20 by a	and between the City
of Clearwater, Florida, a mu	nicipal corporation, h	ereinafter designated as	s the "City", and
	, a/an	(State) Corporat	ion authorized to do
business in the State of	Florida, of the City	of	County of
a	nd State of	_, hereinafter designated a	as the "Contractor".

WITNESSETH:

That the parties to this contract each in consideration of the undertakings, promises and agreements on the part of the other herein contained, do hereby undertake, promise and agree as follows:

The Contractor, and his or its successors, assigns, executors or administrators, in consideration of the sums of money as herein after set forth to be paid by the City and to the Contractor, shall and will at **their** own cost and expense perform all labor, furnish all materials, tools and equipment for the following:

PROJECT NAME: 2023 Sewer Point Repair & Improvements Section A - Sanitary Sewer Trenchless Reconstruction Section B – Sewer Cleaning and Televising Inspection

PROJECT NO.: 22-0006-UT

Each section in the amount of, not to exceed, for the initial contract term:

Section A: \$10,000,000.00

Section B: \$ 3,000,000.00

for a total of \$13,000,000.00 for the initial contract term

In accordance with such proposal and technical supplemental specifications and such other special provisions and drawings, if any, which will be submitted by the City, together with any advertisement, instructions to bidders, general conditions, technical specifications, proposal and bond, which may be hereto attached, and any drawings if any, which may be herein referred to, are hereby made a part of this contract, and all of said work to be performed and completed by the contractor and its successors and assigns shall be fully completed in a good and workmanlike manner to the satisfaction of the City.

If the Contractor should fail to comply with any of the terms, conditions, provisions or stipulations as contained herein within the time specified for completion of the work to be performed by the Contractor, then the City, may at its option, avail itself of any or all remedies provided on its behalf and shall have the right to proceed to complete such work as Contractor is obligated to perform in accordance with the provisions as contained herein.

CONTRACT

(2)

THE CONTRACTOR AND HIS OR ITS SUCCESSORS AND ASSIGNS DOES HEREBY AGREE TO ASSUME THE DEFENSE OF ANY LEGAL ACTION WHICH MAY BE BROUGHT AGAINST THE CITY AS A RESULT OF THE CONTRACTOR'S ACTIVITIES ARISING OUT OF THIS CONTRACT AND FURTHERMORE, IN CONSIDERATION OF THE TERMS, STIPULATIONS AND CONDITIONS AS CONTAINED HEREIN, AGREES TO HOLD THE CITY FREE AND HARMLESS FROM ANY AND ALL CLAIMS FOR DAMAGES, COSTS OF SUITS, JUDGMENTS OR DECREES RESULTING FROM ANY CLAIMS MADE UNDER THIS CONTRACT AGAINST THE CITY OR THE CONTRACTOR OR THE CONTRACTOR'S SUB CONTRACTORS, AGENTS, SERVANTS OR EMPLOYEES RESULTING FROM ACTIVITIES BY THE AFOREMENTIONED CONTRACTOR, SUB CONTRACTOR, AGENT SERVANTS OR EMPLOYEES. TO THE LIMITS OF § 725.06(2).

In addition to the foregoing provisions, the Contractor agrees to conform to the following requirements:

In connection with the performance of work under this contract, the Contractor agrees not to discriminate against any employee or applicant for employment because of race, sex, religion, color, or national origin. The aforesaid provision shall include, but not be limited to, the following: employment, upgrading, demotion, or transfer; recruitment or recruitment advertising; lay off or termination; rates of pay or other forms of compensation; and selection for training, including apprenticeship. The Contractor agrees to post hereafter in conspicuous places, available for employees or applicants for employment, notices to be provided by the contracting officer setting forth the provisions of the non-discrimination clause.

The Contractor further agrees to insert the foregoing provisions in all contracts hereunder, including contracts or agreements with labor unions and/or worker's representatives, except sub-contractors for standard commercial supplies or raw materials.

It is mutually agreed between the parties hereto that time is of the essence of this contract, and in the event that the work to be performed by the Contractor is not completed within the time stipulated herein, it is then further agreed that the City may deduct from such sums or compensation as may be due to the Contractor the sum of \$1,000.00 per day for each day that the work to be performed by the Contractor remains incomplete beyond the time limit specified herein, which sum of \$1,000.00 per day shall only and solely represent damages which the City has sustained by reason of the failure of the Contractor to complete the work within the time stipulated, it being further agreed that this sum is not to be construed as a penalty but is only to be construed as liquidated damages for failure of the Contractor to complete and perform all work within the time period as specified in this contract.

It is further mutually agreed between the City and the Contractor that if, any time after the execution of this contract and the public construction bond which is attached hereto for the faithful performance of the terms and conditions as contained herein by the Contractor, that the City shall at any time deem the surety or sureties upon such public construction bond to be unsatisfactory or if, for any reason, the said bond ceases to be adequate in amount to cover the performance of the work the Contractor shall, at his or its own expense, within ten (10) days after receipt of written notice from the City to do so, furnish an additional bond or bonds in such term and amounts and with such surety or sureties as shall be satisfactory to the City. If such an event occurs, no further payment shall be made to the Contractor under the terms and provisions of this contract until such new or additional security bond guaranteeing the faithful performance of the work under the terms hereof shall be completed and furnished to the City in a form satisfactory to it.

CONTRACT

In addition to all other contract requirements as provided by law, the contractor executing this agreement agrees to comply with public records law.

IF THE CONTRACTOR HAS QUESTIONS REGARDING THE APPLICATION OF CHAPTER 119, FLORIDA STATUTES, THE CONTRACTORS DUTY TO PROVIDE PUBLIC RECORDS RELATING TO THIS CONTRACT. CONTACT THE CUSTODIAN OF PUBLIC RECORDS AT 727-562-4092. Rosemarie.Call@myclearwater.com, 600 Cleveland St. Clearwater, FL 33756

The contractor's agreement to comply with public records law applies specifically to:

- a) Keep and maintain public records required by the City of Clearwater (hereinafter "public agency") to perform the service being provided by the contractor hereunder.
- b) Upon request from the public agency's custodian of public records, provide the public agency with a copy of the requested records or allow the records to be inspected or copied within a reasonable time at a cost that does not exceed the cost provided for in Chapter 119, Florida Statutes, as may be amended from time to time, or as otherwise provided by law.
- c) Ensure that the public records that are exempt or confidential and exempt from public records disclosure requirements are not disclosed except as authorized by law for the duration of the contract term and following completion of the contract if the contractor does not transfer the records to the public agency.
- d) Upon completion of the contract, transfer, at no cost, to the public agency all public records in possession of the contractor or keep and maintain public records required by the public agency to perform the service. If the contractor transfers all public records to the public agency upon completion of the contract, the contractor shall destroy any duplicate public records that are exempt or confidential and exempt from public records disclosure requirements. If the contractor keeps and maintains public records upon completion of the contract, the contractor shall meet all applicable requirements for retaining public records. All records stored electronically must be provided to the public agency, upon request from the public agency's custodian of public records, in a format that is compatible with the information technology systems of the public agency.
- e) A request to inspect or copy public records relating to a public agency's contract for services must be made directly to the public agency. If the public agency does not possess the requested records, the public agency shall immediately notify the contractor of the request and the contractor must provide the records to the public agency or allow the records to be inspected or copied within a reasonable time.
- f) The contractor hereby acknowledges and agrees that if the contractor does not comply with the public agency's request for records, the public agency shall enforce the contract provisions in accordance with the contract.
- g) A contractor who fails to provide the public records to the public agency within a reasonable time may be subject to penalties under Section 119.10, Florida Statutes.
- h) If a civil action is filed against a contractor to compel production of public records relating to a public agency's contract for services, the court shall assess and award against the contractor the reasonable costs of enforcement, including reasonable attorney fees, if:
 - 1. The court determines that the contractor unlawfully refused to comply with the public records request within a reasonable time; and

CONTRACT (4)

- 2. At least 8 business days before filing the action, the plaintiff provided written notice of the public records request, including a statement that the contractor has not complied with the request, to the public agency and to the contractor.
- i) A notice complies with subparagraph (h)2. if it is sent to the public agency's custodian of public records and to the contractor at the contractor's address listed on its contract with the public agency or to the contractor's registered agent. Such notices must be sent by common carrier delivery service or by registered, Global Express Guaranteed, or certified mail, with postage or shipping paid by the sender and with evidence of delivery, which may be in an electronic format.
- j) A contractor who complies with a public records request within 8 business days after the notice is sent is not liable for the reasonable costs of enforcement.

IN WITNESS WHEREOF, the parties to the agreement have hereunto set their hands and seals and have executed this Agreement, the day and year first above written.

CITY OF CLEARWATER IN PINELLAS COUNTY, FLORIDA

By:		(SEAL)
-	Jon P. Jennings	
	City Manager	Attest:
Coun	tersigned:	
	-	Rosemarie Call
		City Clerk
By:		Approved as to form:
	Frank Hibbard	
Mayor		Owen Kohler
		Assistant City Attorney
Conti	ractor must indicate whether:	
	Corporation, Partnership,	Company, or Individual
		(Contractor)
		(Conductor)
		By: (SEAL)
		Print Name:
		Title:

The person signing shall, in his own handwriting, sign the Principal's name, his own name, and his title; where the person is signing for a Corporation, he must, by Affidavit, show his authority to bind the Corporation – **provide Affidavit**.

CONSENT OF SURETY TO FINAL PAYMENT

TO OWNER:	City of Clearwater	PROJECT NAME: 2023 Sewer Point Repair & Improvement Project
	Engineering Dept.	PROJECT NO.:22-0006-UT
	100 S. Myrtle Ave.	CONTRACT DATE: []
	Clearwater, FL 33756	BOND NO.: [], recorded in O.R. Book [], Page [], of the Public Records of Pinellas County, Florida.
CONTRACTOR	R: Inliner Solutions, LLC	
	55.05(11), Florida Statute he Contractor as indicated	s, and in accordance with the provisions of the Contract between d above, the:
N/A Not applica	able. A bond will not be r	equired for this project.
NOT APPLICA	ABLE	,SURETY,
on bond of		
Inliner Solutions 2531 Jewett Ln Sanford, FL 327		,CONTRACTOR,
	s of the final payment to Surety of any of its oblig	the Contractor, and agrees that final payment to the Contractor gations to
City of Clearwa Engineering De 100 S. Myrtle A Clearwater, FL	pt. ve.	,OWNER,
as set forth in sa	id Surety's bond.	
IN WITNESS W	VHEREOF, the Surety ha	s hereunto set its hand this day of,
		(Surety)
		(Signature of authorized representative)
		(Printed name and title)
Attest: (Seal):		

SECTION V - Contract Documents

N/A Not applicable. A bond will not be required for this project.

PROPOSAL/BID BOND

(Not to be filled out if a certified check is submitted)

KNOWN ALL MEN B	Y THESE PRESENTS: That we, the undersigned, Inliner Solutions, LLC
	as Contractor, and Everest Reinsurance Company
100 Everest Way, Warren, NJ 070	as Surety, whose address is
of Clearwater, Florida, (\$) (be	in the sum of Dollars ing a minimum of 10% of Contractor's total bid amount) for the payment of which, ade, we hereby jointly and severally bind ourselves, our heirs, executors,
The condition of the abo	ve obligation is such that if the attached Proposal of Inliner Solutions, LLC
	as Contractor, and Everest Reinsurance Company as Surety, for
work specified as:	
in writing, and furnish the City Manager, this obliga the full amount of this Pro Principal must indicate w	
Corporation,	Partnership, X Company, or Individual
	Signed this 30 th day of June , 20^{22} .
	Inliner Solutions, LLC
	Principal Daniel Banken
	By: <u>Brea Director</u> Title
	Surety Victoria P. Parkerson, Attorney-in-Fact

The person signing shall, in his own handwriting, sign the Principal's name, his own name, and his title; where the person is signing for a Corporation, he must, by Affidavit, show his authority to bind the Corporation – provide Affidavit.



Inliner Solutions 4520 North State Road 37 Orleans, IN 47452

812.865.3232

June 30, 2022

City of Clearwater 100 S. Myrtle Ave Clearwater, FL 33756

Re: Project # 22-0006 2023 SEWER POINT REPAIR AND IMPROVEMENTS PROJECT Bids on 07/06/2022

My name is Denise C. McClanahan, and I am Executive Vice President of Inliner Solutions, LLC. I am authorized to negotiate, execute and/or attest electronic and paper documents and contracts necessary for the conduct of the Company's affairs with respect to the submission and execution of construction project bids, bid proposals, bid addenda and all other bid-related documents prepared and submitted on behalf of the Company relating to any and all domestic construction projects arising out of the Company's operations.

Further, under Company policy, I am authorized to and hereby delegate my authority to bind the Company to Daniel Banken, Area Director with the Company, for the purpose of submitting a bid for the above-referenced project.

Sincerely,

DocuSigned by:

Denise C. McClanahan Executive Vice President Inliner Solutions, LLC.

Denise (... McClanalian



POWER OF ATTORNEY EVEREST REINSURANCE COMPANY DELAWARE

KNOW ALL PERSONS BY THESE PRESENTS: That Everest Reinsurance Company, a corporation of the State of Delaware ("Company") having its principal office located at 477 Martinsville Road, Liberty Corner, New Jersey 07938, do hereby nominate, constitute, and appoint:

Russell M. Canterbury, Jessica L. Piccirillo, Steven E. Susanin, Woodrow M. Baird, Diane Moraski, Victoria P. Parkerson, Adam Martin, Kathleen M. Flanagan, Richard A. Leveroni

its true and lawful Attorney(s)-in-fact to make, execute, attest, seal and deliver for and on its behalf, as surety, and as its act and deed, where required, any and all bonds and undertakings in the nature thereof, for the penal sum of no one of which is in any event to exceed UNLIMITED, reserving for itself the full power of substitution and revocation.

Such bonds and undertakings, when duly executed by the aforesaid Attorney(s)-in-fact shall be binding upon the Company as fully and to the same extent as if such bonds and undertakings were signed by the President and Secretary of the Company and sealed with its corporate seal.

This Power of Attorney is granted and is signed by facsimile under and by the authority of the following Resolutions adopted by the Board of Directors of Company ("Board") on the 28th day of July 2016:

RESOLVED, that the President, any Executive Vice President, and any Senior Vice President and Anthony Romano are hereby appointed by the Board as authorized to make, execute, seal and deliver for and on behalf of the Company, any and all bonds, undertakings, contracts or obligations in surety or co-surety with others and that the Secretary or any Assistant Secretary of the Company be and that each of them hereby is authorized to attest to the execution of any such bonds, undertakings, contracts or obligations in surety or co-surety and attach thereto the corporate seal of the Company.

RESOLVED, FURTHER, that the President, any Executive Vice President, and any Senior Vice President and Anthony Romano are hereby authorized to execute powers of attorney qualifying the attorney named in the given power of attorney to execute, on behalf of the Company, bonds and undertakings in surety or co-surety with others, and that the Secretary or any Assistant Secretary of the Company be, and that each of them is hereby authorized to attest the execution of any such power of attorney, and to attach thereto the corporate seal of the Company.

RESOLVED, FURTHER, that the signature of such officers named in the preceding resolutions and the corporate seal of the Company may be affixed to such powers of attorney or to any certificate relating thereto by facsimile, and any such power of attorney or certificate bearing such facsimile signatures or facsimile seal shall be thereafter valid and binding upon the Company with respect to any bond, undertaking, contract or obligation in surety or co-surety with others to which it is attached.

IN WITNESS WHEREOF, Everest Reinsurance Company has caused their corporate seals to be affixed hereto, and these presents to be signed by their duly authorized officers this 28th day of July 2016.

SEAL 1973
GELAWARE TO SEAL WARE TO SEAL TO THE SEAL TO THE SEAL TO THE SEAL TO THE SEAL THE S

Attest: Nicole Chase, Assistant Secretary

Everest Reinsurance Company

By: Anthony Romano, Vice President

On this 26th day of July 2016, before me personally came Anthony Romano, known to me, who, being duly swom, did execute the above instrument; that he knows the seal of said Company; that the seal affixed to the aforesaid instrument is such corporate seal and was affixed thereto; and that he executed said instrument by like order.

LINDA ROBINS
Notary Public, State of New York
No 01R06239736
Qualified in Queens County
Term Expires April 25, 2023

Linda Robins, Notary Public

IN WITNESS WHEREOF, I have hereunto set my hand and affixed the seal of said Company, at the Liberty Corner, this 30th day of June 2022

 $\underline{\textbf{AFFIDAVIT}}$ (To be filled in and executed if the bidder is a corporation)

	STATE OF FLORIDA)				
	COUNTY OF Seminole				
	Denise McClanahan	baina duls	sworn danasas an	d says that he/she is	
ssistant	Secretary of Inliner Solutions, LLC	, being duly	sworn, deposes and	u says that he/she is	
	a corporation organized and existing under and principal office at:	by virtue of the	laws of the State of F	lorida, and having its	
	4520 North State Road 37	Orleans	Orang	je IN	
	(Street & Number)	(City)	(County)	(State)	
	Affiant further says that he is familiar Inliner Solutions, LLC	with the rec	ords, minute book	as and by-laws of	
	(Name of Corporation)		131000000000000000000000000000000000000		
	Affiant further says that Daniel Bank	en	is Area Dire	ctor	
	(Officer's Name) (Title)				
	of the corporation, is duly authorized to sign the Proposal for Inliner Solutions, LLC				
	or said corporation by virtue of Resolution of Board of Directors (4/04/22),				
	(state whether a provision of by laws or a Resolution of				
	Board of Directors. If by Resolution give date of adoption).				
		10	100		
	*	Daniel	Banken		
		Affiant		1000	
	Sworn to before me this 6th day of July		, ₂₀ _22		
	Edna V. Tinis	Notary	na V. Jin	(C)	
NOTARY PUBLIC ESTATE OF FLORIDA	ر مام	a V Tinis			
	Comm# GG288282	Type/r	orint/stamp name of N	Notary	
	Expires 1/3/2023	GG	288282	5.	
		Title o	r rank, and Serial No.	., if any	

NON-COLLUSION AFFIDAVIT

STATE OF FLORIDA)		
COUNTY OF Seminole		
Daniel Banken	being, first duly swor	n, deposes and says that he is
District Mangaer	of Inliner Solution	ons, LLC
the party making the foregoing Propossaid bidder is not financially interested on the same contract; that said bidder ha with any bidders or person, to put in a has not in any manner, directly or inconference, with any person, to fix the bor cost element of said bid price, or that Clearwater, Florida, or any person or prontained in said proposal or bid are submitted this bid, or the contents therefor to any member or agent thereof. Sworn to and subscribed before me this	I in or otherwise affiliated in a bust is not colluded, conspired, connived sham bid or that such other perso directly, sought by agreement or bid price or affiant or any other bid t of any other bidder, or to secure a persons interested in the proposed true; and further, that such bidd of, or divulged information or data.	siness way with any other bidde d, or agreed, directly or indirectly n shall refrain from bidding, and collusion, or communication of der, or to fix any overhead, profit any advantage against the City of contract; and that all statements er has not directly or indirectly

PROPOSAL

(1)

TO THE CITY OF CLEARWATER, FLORIDA, for

2023 Sewer point Repair & Improvement Project, Sections A and B (No. 22-0006-UT)

and doing such other work incidental thereto, all in accordance with the contract documents, marked

2023 Sewer point Repair & Improvement Project, Sections A and B (No. 22-0006-UT)

Every bidder must take notice of the fact that even though his proposal be accepted and the documents signed by the bidder to whom an award is made and by those officials authorized to do so on behalf of the City of Clearwater, Florida, that no such award or signing shall be considered a binding contract without a certificate from the Finance Director that funds are available to cover the cost of the work to be done, or without the approval of the City Attorney as to the form and legality of the contract and all the pertinent documents relating thereto having been approved by said City Attorney; and such bidder is hereby charged with this notice.

The signer of the Proposal, as bidder, also declares that the only person, persons, company or parties interested in this Proposal, are named in this Proposal, that he has carefully examined the Advertisement, Instructions to Bidders, Contract Specifications, Plans, Supplemental Specifications, General Conditions, Special Provisions, and Public Construction Bond, that he or his representative has made such investigation as is necessary to determine the character and extent of the work and he proposes and agrees that if the Proposal be accepted, he will contract with the City of Clearwater, Florida, in the form of contract; hereto annexed, to provide the necessary labor, materials, machinery, equipment, tools or apparatus, do all the work required to complete the contract within the time mentioned in the General Conditions and according to the requirements of the City of Clearwater, Florida, as herein and hereinafter set forth, and furnish the required surety bonds for the following prices to wit:

If the foregoing Proposal shall be accepted by the City of Clearwater, Florida, and the undersigned shall fail to execute a satisfactory contract as stated in the Advertisement herein attached, then the City may, at its option determine that the undersigned has abandoned the contract, and thereupon this Proposal shall be null and void, and the certified check or bond accompanying this Proposal, shall be forfeited to become the property of the City of Clearwater, Florida, and the full amount of said check shall be retained by the City, or if the Proposal Bond be given, the full amount of such bond shall be paid to the City as stipulated or liquidated damages; otherwise, the bond or certified check accompanying this Proposal, or the amount of said check, shall be returned to the undersigned as specified herein.

PROPOSAL

(2)

Attached hereto is a bond or certified check on	See Attached Proposal/Bid Bond
	for the sum of
	(\$
(being a minimum of 10% of Contractor's total bid ar	mount).
The full names and residences of all persons and part	ies interested in the foregoing bid are as follows:
(If corporation, give the names and addresses of the names and addresses of the members or partners. The of any person with whom bidder has any type of enrichment, employment or possible benefit, whetl employer is contingent upon the award of the contract	e Bidder shall list not only his name but also the name f agreement whereby such person's improvements, her sub-contractor, materialman, agent, supplier, or
NAMES:	ADDRESSES:
See Attached	For all:
	4520 North State Road 37
	Orleans, IN 47452
Sign The person signing shall, in his own handwriting, si Where the person signing for a corporation is other affidavit, show his authority, to bind the corporation.	r than the President or Vice President, he must, by
By: Daniel J. Gankon	Title: Area Director
Company Legal Name: Inliner, Solutions,	
Doing Business As (if different than above):	
Business Address of Bidder: 2531 Jewett Lr	1
City and State: Sanford, FL	Zip Code 32771
	daniel.banken@gcinc.com
Dated at Sanford, FC, this 06	

CITY OF CLEARWATER ADDENDUM SHEET

PROJECT: 2023 SEWER POINT REPAIR AND IMPROVEMENTS PROJECT (No. 22-0006-UT)

Acknowledgment is hereby made of the following addenda received since issuance of Plans and Specifications.

Addendum No. 1	Date: 06/15/2022
Addendum No. 2	Date: 06/28/20202
Addendum No. 3	Date: 06/28/2022
Addendum No	Date:
	Inliner Solutions, LLC
	(Name of Bidder)
	100
	(Signature of Officer)
	Area Director
	(Title of Officer)
	07/06/2022
	(Date)



ADDENDUM NO. 1

FOR

22-0006-UT 2023 Sewer Point Repair & Improvements Project

DATE: June 15, 2022

SUBJECT: ADDENDUM NO. 1

TO: PROSPECTIVE BIDDERS AND OTHERS CONCERNED

The Bid Tab for Project No. 22-0006-UT was Revised on 6/14/22 due to a Classification Error. Please use the version with "REVISED" in the title.

END OF NOTICE



ADDENDUM NO. 2

FOR

2023 SEWER POINT REPAIR AND IMPROVEMENTS (22-0006-UT)

DATE: JUNE 28, 2022

SUBJECT: ADDENDUM NO. 2

TO: PROSPECTIVE BIDDERS AND OTHERS CONCERNED

1. Question: Will this contract be able to be used as a piggyback?

a. **Response**: Yes

S.39 COOPERATIVE USE OF CONTRACT. The City has entered into various cooperative purchasing agreements with other Florida government agencies, including the Tampa Bay Area Purchasing Cooperative. Under a Cooperative Purchasing Agreement, any contract may be extended for use by other municipalities, school districts and government agencies in the State of Florida with the approval of Contractor. Any such usage by other entities must be in accordance with the statutes, codes, ordinances, charter and/or procurement rules and regulations of the respective government agency.

Orders placed by other agencies and payment thereof will be the sole responsibility of that agency. The City is not responsible for any disputes arising out of transactions made by others.

- 2. **Question**: For Section F, could a mobilization line item be added?
 - a. **Response**: Yes. A line item for mobilization will be added.
- 3. **Question**: For Section F, Item 4, could bid items be added for 4-inch and 6-inch cleanout cap replacements?
 - a. **Response**: Yes. Separate line items for 4-inch and 6-inch cleanout cap replacements will be added.
- 4. **Question**: For Section F, Item 5, could bid items be added for replacement of top 2 feet of 4-inch and 6-inch cleanouts?
 - a. **Response**: Yes. Separate line items for replacement of the top two feet of 4-inch and 6-inch cleanouts.
- 5. **Question**: For Section F, Item 5, can cleanout replacements be SCH40 or SDR35?
 - a. **Response**: Only Schedule 40 will be accepted. SDR 35 is not accepted.



- 6. **Question**: For Section F, Item 5, for replacing the top 2 feet of a cleanout, would this only be down to the tee?
 - a. **Response**: Yes, replacement will stop at the tee.
- 7. **Question**: For Section F, the specifications call for an Excel format. Generally reports that are submitted for SSES requirements are in XLS, PDF, CSV, KML, and shapefiles. Would the City want reports in additional formats?
 - a. **Response**: Yes. Additional formats are acceptable upon coordination with and approval by City project manager.
- 8. **Question**: For Section F, is a contractor's license required for this section? This section requires no underground or heavy construction. Smoke testing essentially is a lawn mower engine that forces smoke into the sewer system.
 - a. **Response**: Please refer to Section II of the City of Clearwater's Contract Specifications. These documents must also be submitted with a pregualification application.

2. QUALIFICATION OF BIDDERS

Each prospective Bidder must pre-qualify to demonstrate, to the complete satisfaction of the City of Clearwater, that the Bidder has the necessary facilities, equipment, ability, financial resources and experience to perform the work in a satisfactory manner. An application package for pre-qualification may be obtained by contacting the City of Clearwater, Engineering Department, P.O. Box 4748, Clearwater, Florida 33758-4748 (mailing address); 100 South Myrtle Avenue, Clearwater, Florida 33756-5520 (street address) or by phone at (727) 562-4750. Prequalification requirement information is also available on the City of Clearwater Website at address:

www.myclearwater.com/government/city-departments/engineering/construction-management.

Contractors wanting to pre-qualify to bid on a project as a General Contractor must do so two weeks (ten workdays) prior to the bid opening date. Bidders currently pre-qualified by the City do not have to make reapplication. It is the Contractor's responsibility to confirm pre-qualification status before a Bid Opening.

The Contractor shall provide copies of the current Contractor License/Registration with the State of Florida and Pinellas County in the bid response.



- 9. Question: Is there a plan holders list that can be provided?
 - a. **Response**: The plan holders list is provided as the attendants listed on the Pre-Bid Agenda.
 - 1. Introduction of Attendees Attended via Zoom:

Jacob Smith, Granite

Kathy Sowers, City of Clearwater, Engineering Contract and Procurement Specialist Shawna Blauvelt, City of Clearwater, Engineering Contract and Procurement Specialist Todd Kuhnel, City of Clearwater, Project Manager
John Pacifici, Hazen and Sawyer, Hazen Project Manager
Alphonso Gwyn, Public Utilities Assistant Manager
Michael Flanigan, City of Clearwater, Public Utilities Assistant Director
Rich Gardner, City of Clearwater, Public Utilities Director
Paul DuFaux, Rowland, Inc.
Eric McRoberts, USSI Services
Weston Haggen, CHA Consulting, Inc.
Dan Banken
Christopher McGee, Granite

- **10. Question:** Can multiple contractors be awarded for a given Section:
 - **a. Response:** Yes, but that is not our intention.
- 11. Question: Will "or equal" products not named in the City specifications be considered?
 - **a. Response:** After award, manufacturers can contact winning bidders to discuss potential submittal of products for consideration as "or equals."
- 12. Question: Is a Proposal/Bid Bond required if we bid on an individual Section of a Maintenance Contract?
 - a. **Response:** Maintenance contracts do not require a Public Construction Bond or a Bid Bond.
- 13. Question: Does the Bid Proposal need to be physically or electronically submitted?
 - a. **Response:** Sealed Bids must be submitted in a sealed envelope with the project name and number on the bottom left-hand corner. If forwarded by mail, the Bid must be enclosed in another envelope with the notation "Bid Enclosed" on the face thereof and addressed to the City of Clearwater, attention Purchasing Manager. Bids in any other form will not be accepted, as stated in Section II, Subsection 11: SUBMISSION OF BIDS of the City's Contract Specifications.



ADDENDUM NO. 3

FOR

22-0006-UT 2023 Sewer Point Repair & Improvements

DATE: Project June 28, 2022

SUBJECT: ADDENDUM NO. 3

TO: PROSPECTIVE BIDDERS AND OTHERS CONCERNED

The Bid Tab for Project No. 22-0006-UT was Revised on 6/28/22 to reflect updates in mobilization fee and line items for <u>Section F</u> only. Please use the version with "REVISED on 6.28.22" in the title. Reference Addendum No. 2 to review the requested changes.

END OF NOTICE

BIDDER'S PROPOSAL

PROJECT: 2023 Sewer point Repair & Improvement Project, Sections A and B (No. 22-0006-UT)

CONTRACTOR: Inliner Solutions, LLC.

BIDDER'S TOTAL Section A: \$10,000.00 (Numbers)

BIDDER'S TOTAL Section A: Ten Million dollars and zero cents (Words)

BIDDER'S TOTAL Section B: \$3,000,000.00 (Numbers)

BIDDER'S TOTAL Section B: Three million dollars and zero cents (Words)

BIDDER'S TOTAL Section C: \$______ (Numbers)

BIDDER'S TOTAL Section C: _____(Words)

BIDDER'S TOTAL Section D: \$_____ (Numbers)

BIDDER'S TOTAL Section D: _____ (Words)

BIDDER'S TOTAL Section E: \$_____(Numbers)

BIDDER'S TOTAL Section E: (Words)

BIDDER'S TOTAL Section F: \$ (Numbers)

BIDDER'S TOTAL Section F: _____(Words)

BIDDER'S GRAND TOTAL Sections A & B: \$13,000,000.00 (Numbers)

BIDDER'S GRAND TOTAL Sections A & B: Thirteen million dollars and zero cents (Words)

THE BIDDER'S GRAND TOTAL ABOVE IS HIS TOTAL BID BASED ON HIS UNIT PRICES AND LUMP SUM PRICES AND THE ESTIMATED QUANTITIES REQUIRED FOR EACH SECTION. THIS FIGURE IS FOR INFORMATION ONLY AT THE TIME OF OPENING BIDS. THE CITY WILL MAKE THE TABULATION FROM THE UNIT PRICES AND LUMP SUM PRICE BID. IF THERE IS AN ERROR IN THE TOTAL BY THE BIDDER, IT SHALL BE CHANGED AS ONLY THE UNIT PRICES AND LUMP SUM PRICE SHALL GOVERN.

THE CONTRACTOR SHALL PROVIDE COPIES OF A CURRENT CONTRACTOR LICENSE/REGISTRATION WITH THE STATE OF FLORIDA <u>AND</u> PINELLAS COUNTY IN THE BID RESPONSE.

	Inliner Solutions, LLC 2531 Jewett Ln Sanford, FL 32771		
	DBE	Y/N	

Group A: Sanitary Sewer Trenchless Reconstruction

10c

20.1'-30'

30" Dia. Sanitary Sewer Mains

All bid items, unless otherwise specified, shall be inclusive of furnishing all material and labor for the complete installation of the bid item, inclusive of any necessary removal and disposal. Installation shall be completed in accordance with the specifications. The quantities provided are estimated per year for bidding

	purposes and may vary based on the actual work throughout the duration of the							
Gener	al	<u> </u>						
Gener								
	¹ Mobilization shall be per work order as defined by the City. Each work order may include more than one individual project. The unit price for mobilization shall not							
Item	Description	Units	Quantity		Unit		Total Price	
No.	Description	Cints	Quantity		Price		10tai i ite	
1	Mobilization/Demobilization including Traffic Control	LS/WO	20	\$	3,000.00	\$	60,000.00	Original didn't calculate in total (see 91f)
	Trenchless Pipe Reconstruction System - CIPP							
2a	6" Dia. Sanitary Sewer Mains 6.0 mm	LF	500	\$	41.00	\$	20,500.00	
2b	8" Dia. Sanitary Sewer Mains 6.0 mm	LF	20,000	\$	39.00	\$	780,000.00	
2c	10" Dia. Sanitary Sewer Mains 7.5 mm	LF	5,000	\$	46.00	\$	230,000.00	
2d	12" Dia. Sanitary Sewer Mains 7.5 mm	LF	1,000	\$	53.00	\$	53,000.00	
2e	15" Dia. Sanitary Sewer Mains 9.0 mm	LF	100	\$	65.00	\$	6,500.00	
2f	18" Dia. Sanitary Sewer Mains 9.0 mm	LF	2,000	\$	73.00	\$	146,000.00	
2g	20" Dia. Sanitary Sewer Mains 12.0 mm	LF	100	\$	85.00	\$	8,500.00	
2h	24" Dia. Sanitary Sewer Mains 12.0 mm	LF	3,000	\$	109.00	\$	327,000.00	
2i	30" Dia. Sanitary Sewer Mains 16.0 mm	LF	150	\$	175.00	\$	26,250.00	
2j	36" Dia. Sanitary Sewer Mains 18.5 mm	LF	50	\$	356.00	\$	17,800.00	
	CIPP Sectional Repair	•						
3	6" Dia. Sanitary Sewer Mains							
3a	0'-10'	EA	5	\$	3,850.00	\$	19,250.00	
3b	10.1'-20'	EA	2	\$	3,957.00	\$	7,914.00	
3c	20.1'-30'	EA	2	\$	4,044.00	\$	8,088.00	
4	8" Dia. Sanitary Sewer Mains							
4a	0'-10'	EA	5	\$	3,843.00	\$	19,215.00	
4b	10.1'-20'	EA	2	\$	4,316.00	\$	8,632.00	
4c	20.1'-30'	EA	2	\$	4,350.00	\$	8,700.00	
5	10" Dia. Sanitary Sewer Mains							
5a	0'-10'	EA	5	\$	4,205.00	\$	21,025.00	
5b	10.1'-20'	EA	2	\$	4,510.00	\$	9,020.00	
5c	20.1'-30'	EA	2	\$	4,747.00	\$	9,494.00	
6	12" Dia. Sanitary Sewer Mains							
6a	0'-10'	EA	5	\$	4,216.00	\$	21,080.00	
6b	10.1'-20'	EA	2	\$	4,622.00	\$	9,244.00	
6c	20.1'-30'	EA	2	\$	4,894.00	\$	9,788.00	
7	15" Dia. Sanitary Sewer Mains							•
7a	0'-10'	EA	5		4,455.00	\$	22,275.00	
7b	10.1'-20'	EA	2	\$	4,965.00	\$	9,930.00	
7c	20.1'-30'	EA	2	\$	5,343.00	\$	10,686.00	
8	18" Dia. Sanitary Sewer Mains							
8a	0'-10'	EA	3		5,259.00		15,777.00	
8b	10.1'-20'	EA	1		6,004.00	\$	6,004.00	
8c	20.1'-30'	EA	1	\$	6,452.00	\$	6,452.00	
9	20" Dia. Sanitary Sewer Mains							
9a	0'-10'	EA	3		5,662.00	\$	16,986.00	
9b	10.1'-20'	EA	1		6,597.00		6,597.00	
9c	20.1'-30'	EA	1	\$	7,235.00	\$	7,235.00	
10	24" Dia. Sanitary Sewer Mains				<u></u>			
10a	0'-10'	EA				\$	17,661.00	
10b	10.1'-20'	EA			6,909.00		6,909.00	
100	20.1', 30',	EΛ	1	Ф	7.625.00	d d	7 625 00	I .

EA

7,635.00

1 \$ 7,635.00

11a	0'-10'	EA	3	\$ 7,967.00	\$ 23,901.00	
11b	10.1'-20'	EA	1	\$ 9,410.00	\$ 9,410.00	
11c	20.1'-30'	EA	1	\$ 10,556.00	\$ 10,556.00	
12	36" Dia. Sanitary Sewer Mains					
12a	0'-10'	EA	3	\$ 8,820.00	\$ 26,460.00	
12b	10.1'-20'	EA	1	\$11,787.00	\$ 11,787.00	
12c	20.1'-30'	EA	1	\$ 13,350.00	\$ 13,350.00	

	Ancillary Services							
13	Easement Access, additional							
13a	≤ 15" Diameter	LF	250	\$	5.00	\$	1,250.00	
13b	> 15" Diameter	LF	500		5.00	\$	2,500.00	
14	Service Leak Sealing with Pressure Grouting	EA	50		430.00	\$	21,500.00	
15	Open Cut Service Reconnection	EA	250		89.00	\$	22,250.00	
16	Heavy Cleaning (6 Passes of the Cleaning Head)						,	
16a	8"-10" Diameter	LF	2,500	\$	5.00	\$	12,500.00	
16b	12"-15" Diameter	LF	1,500		6.00	\$	9,000.00	
16c	16"-24" Diameter	LF	5,000	\$	9.00	\$	45,000.00	
17	Root Removal							
17a	8"-10" Diameter	LF	100	\$	3.00	\$	300.00	
17b	12"-15" Diameter	LF	50	\$	4.00	\$	200.00	
17c	16"-24" Diameter	LF	25	\$	7.00	\$	175.00	
18	Tuberculation Cleaning							
18a	8"-10" Diameter	LF	250	\$	12.00	\$	3,000.00	
18b	12"-15" Diameter	LF	250	\$	12.00	\$	3,000.00	
18c	16"-24" Diameter	LF	750	\$	14.00	\$	10,500.00	
19	Bypass Pump setup with Piping							
19a	8"-12" Diameter	EA	75		4.00	\$	300.00	
19b	15"-18" Diameter	EA	25	\$	13.00	\$	325.00	
19c	24" Diameter	EA	10	\$	65.00	\$	650.00	
20	Miscellaneous Items			\$	-	\$	-	
21	Miscellaneous Markup (10% maximum allowed)				0.075			Original amount \$159,679.58 but did not
								include full 10% nor did it calculate in the
								\$60,000.00 from line 14h
TOTA	L SECTION A =		•			\$	2,189,061.00	Original total \$2,288,740.58 calculated at
								7.5% contingency and also did not include
								mobilization fee of \$60,000.00
	B. Sewer Cleaning and Televising Inspection	n						
	All bid items, unless otherwise specified, shall be inclusive of							
	material and labor for the complete installation of the bid iter							
	necessary proper removal and disposal. Contractor shall prov							
	(i.e. dump tickets) as part of the work. The quantities provide							
	l							
	year for bidding purposes and may vary based on the actual v		ghout the					
	year for bidding purposes and may vary based on the actual v duration of the contract. The City of Clearwater (City) is not		ghout the					
			ghout the					
	duration of the contract. The City of Clearwater (City) is not	obligated t	ghout the o purchase					
	duration of the contract. The City of Clearwater (City) is not General	obligated to	ghout the o purchase order may					
Item	duration of the contract. The City of Clearwater (City) is not General Mobilization shall be per work order as defined by the City. include more than one individual project. The unit price for r	obligated to	ghout the o purchase order may		Unit		Total Price	
Item No.	duration of the contract. The City of Clearwater (City) is not General Mobilization shall be per work order as defined by the City.	obligated to	ghout the o purchase order may order may		Unit Price		Total Price	
No.	duration of the contract. The City of Clearwater (City) is not General Mobilization shall be per work order as defined by the City. include more than one individual project. The unit price for r Description	obligated to	ghout the o purchase order may order may			\$		
	duration of the contract. The City of Clearwater (City) is not General Mobilization shall be per work order as defined by the City include more than one individual project. The unit price for r Description Mobilization/Demobilization including Traffic 1	Each work	corder may a shall not Quantity		Price		Total Price 40,000.00	
No. 1a	duration of the contract. The City of Clearwater (City) is not General Mobilization shall be per work order as defined by the City include more than one individual project. The unit price for r Description Mobilization/Demobilization including Traffic Sewer Line Cleaning	Each work mobilization Units LS/WO	ghout the o purchase order may a shall not Quantity	\$	Price 4,000.00	\$	40,000.00	
No. 1a 2a	duration of the contract. The City of Clearwater (City) is not General Mobilization shall be per work order as defined by the City. include more than one individual project. The unit price for r Description Mobilization/Demobilization including Traffic Sewer Line Cleaning Heavy Cleaning from Right of Way - 8"-10" Diameter	Each work mobilization Units LS/WO	o purchase order may a shall not Quantity	\$	Price 4,000.00 5.25	\$	40,000.00	
No. 1a	duration of the contract. The City of Clearwater (City) is not General Mobilization shall be per work order as defined by the City include more than one individual project. The unit price for r Description Mobilization/Demobilization including Traffic Sewer Line Cleaning	Each work mobilization Units LS/WO	ghout the o purchase order may a shall not Quantity	\$	Price 4,000.00	\$	40,000.00	
No. 1a 2a 2b	duration of the contract. The City of Clearwater (City) is not General Mobilization shall be per work order as defined by the City. include more than one individual project. The unit price for r Description Mobilization/Demobilization including Traffic Sewer Line Cleaning Heavy Cleaning from Right of Way - 8"-10" Diameter Heavy Cleaning from Right of Way - 12"-15" Diameter	Each work mobilization Units LS/WO LF LF	opurchase order may a shall not Quantity 150,000 25,000	\$ \$	Price 4,000.00 5.25 7.00	\$ \$	40,000.00 787,500.00 175,000.00	
No. 1a 2a	duration of the contract. The City of Clearwater (City) is not General Mobilization shall be per work order as defined by the City. include more than one individual project. The unit price for r Description Mobilization/Demobilization including Traffic Sewer Line Cleaning Heavy Cleaning from Right of Way - 8"-10" Diameter	Each work mobilization Units LS/WO	o purchase order may a shall not Quantity	\$ \$	Price 4,000.00 5.25	\$	40,000.00	
No. 1a 2a 2b 2c	duration of the contract. The City of Clearwater (City) is not General Mobilization shall be per work order as defined by the City. include more than one individual project. The unit price for r Description Mobilization/Demobilization including Traffic Sewer Line Cleaning Heavy Cleaning from Right of Way - 8"-10" Diameter Heavy Cleaning from Right of Way - 12"-15" Diameter Heavy Cleaning from Right of Way - 16"-24" Diameter	Each work mobilization Units LS/WO LF LF LF	order may a shall not Quantity 10 150,000 25,000	\$ \$ \$	Price 4,000.00 5.25 7.00 11.00	\$ \$ \$	40,000.00 787,500.00 175,000.00 275,000.00	
No. 1a 2a 2b	duration of the contract. The City of Clearwater (City) is not General Mobilization shall be per work order as defined by the City. include more than one individual project. The unit price for r Description Mobilization/Demobilization including Traffic Sewer Line Cleaning Heavy Cleaning from Right of Way - 8"-10" Diameter Heavy Cleaning from Right of Way - 12"-15" Diameter	Each work mobilization Units LS/WO LF LF	opurchase order may a shall not Quantity 150,000 25,000	\$ \$ \$	Price 4,000.00 5.25 7.00	\$ \$	40,000.00 787,500.00 175,000.00	
No. 1a 2a 2b 2c 2d	duration of the contract. The City of Clearwater (City) is not General Mobilization shall be per work order as defined by the City. include more than one individual project. The unit price for r Description Mobilization/Demobilization including Traffic Sewer Line Cleaning Heavy Cleaning from Right of Way - 8"-10" Diameter Heavy Cleaning from Right of Way - 12"-15" Diameter Heavy Cleaning from Right of Way - 16"-24" Diameter Heavy Cleaning from Right of Way - 30"-36" Diameter	Each work mobilization Units LS/WO LF LF LF LF	order may a shall not Quantity 10 25,000 25,000 50,000	\$ \$ \$ \$	5.25 7.00 11.00 27.00	\$ \$ \$ \$	40,000.00 787,500.00 175,000.00 275,000.00 1,350,000.00	
2a 2b 2c 2d 3a	duration of the contract. The City of Clearwater (City) is not General Mobilization shall be per work order as defined by the City. include more than one individual project. The unit price for r Description	Each work mobilization Units LS/WO LF LF LF LF LF	150,000 25,000 200	\$ \$ \$ \$	Price 4,000.00 5.25 7.00 11.00 27.00 3.00	\$ \$ \$ \$	40,000.00 787,500.00 175,000.00 275,000.00 1,350,000.00 600.00	
2a 2b 2c 2d 3a 3b	duration of the contract. The City of Clearwater (City) is not General Mobilization shall be per work order as defined by the City. include more than one individual project. The unit price for r Description	Each work mobilization Units LS/WO LF	150,000 25,000 200 25	\$ \$ \$ \$ \$	Price 4,000.00 5.25 7.00 11.00 27.00 3.00 7.00	\$ \$ \$ \$ \$	40,000.00 787,500.00 175,000.00 275,000.00 1,350,000.00 600.00 175.00	
2a 2b 2c 2d 3a 3b 3c	duration of the contract. The City of Clearwater (City) is not General Mobilization shall be per work order as defined by the City. include more than one individual project. The unit price for r Description	Each work mobilization Units LS/WO LF LF LF LF LF LF LF LF LF L	150,000 25,000 200 25 25 25	\$ \$ \$ \$	Frice 4,000.00 5.25 7.00 11.00 27.00 3.00 7.00 13.00	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	40,000.00 787,500.00 175,000.00 275,000.00 1,350,000.00 600.00 175.00 325.00	
2a 2b 2c 2d 3a 3b 3c 3d	duration of the contract. The City of Clearwater (City) is not General Mobilization shall be per work order as defined by the City. include more than one individual project. The unit price for r Description	Each work nobilization Units LS/WO LF	150,000 25,000 200 25 10	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	9 4,000.00 5.25 7.00 11.00 27.00 3.00 7.00 13.00 27.00	\$ \$ \$ \$ \$ \$ \$	40,000.00 787,500.00 175,000.00 275,000.00 1,350,000.00 600.00 175.00 325.00 270.00	
2a 2b 2c 2d 3a 3b 3c	duration of the contract. The City of Clearwater (City) is not General Mobilization shall be per work order as defined by the City. include more than one individual project. The unit price for r Description	Each work mobilization Units LS/WO LF LF LF LF LF LF LF LF LF L	150,000 25,000 200 25 25 25	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	Frice 4,000.00 5.25 7.00 11.00 27.00 3.00 7.00 13.00	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	40,000.00 787,500.00 175,000.00 275,000.00 1,350,000.00 600.00 175.00 325.00	
2a 2b 2c 2d 3a 3b 3c 3d	duration of the contract. The City of Clearwater (City) is not General Mobilization shall be per work order as defined by the City. include more than one individual project. The unit price for r Description	Each work nobilization Units LS/WO LF	150,000 200 25 10 150,000	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	7.00 3.00 27.00 3.00 7.00 13.00 27.00 5.00	\$ \$ \$ \$ \$ \$ \$	40,000.00 787,500.00 175,000.00 275,000.00 1,350,000.00 600.00 175.00 325.00 270.00 750,000.00	
2a 2b 2c 2d 3a 3b 3c 3d 4a	duration of the contract. The City of Clearwater (City) is not General Mobilization shall be per work order as defined by the City. include more than one individual project. The unit price for r Description	Each work nobilization Units LS/WO LF	150,000 25,000 200 25 10	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	9 4,000.00 5.25 7.00 11.00 27.00 3.00 7.00 13.00 27.00	\$ \$ \$ \$ \$ \$ \$	40,000.00 787,500.00 175,000.00 275,000.00 1,350,000.00 600.00 175.00 325.00 270.00	
2a 2b 2c 2d 3a 3b 3c 3d 4a	duration of the contract. The City of Clearwater (City) is not General Mobilization shall be per work order as defined by the City. include more than one individual project. The unit price for r Description	Each work nobilization Units LS/WO LF	150,000 25,000	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	7.00 7.00 7.00 7.00 7.00 7.00 7.00 7.00	\$ \$ \$ \$ \$ \$ \$	40,000.00 787,500.00 175,000.00 275,000.00 1,350,000.00 600.00 175.00 325.00 270.00 750,000.00	
2a 2b 2c 2d 3a 3b 3c 3d 4a 4b	duration of the contract. The City of Clearwater (City) is not General Mobilization shall be per work order as defined by the City. include more than one individual project. The unit price for r Description	Each work nobilization Units LS/WO LF	150,000 200 25 10 150,000	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	7.00 3.00 27.00 3.00 7.00 13.00 27.00 5.00	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	40,000.00 787,500.00 175,000.00 275,000.00 1,350,000.00 600.00 175.00 325.00 270.00 750,000.00	
2a 2b 2c 2d 3a 3b 3c 3d 4a 4b	duration of the contract. The City of Clearwater (City) is not General Mobilization shall be per work order as defined by the City. include more than one individual project. The unit price for r Description	Each work mobilization Units LS/WO LF	150,000 25,000	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	7.00 11.00 27.00 3.00 7.00 27.00 3.00 7.00 13.00 27.00 5.00 7.00	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	40,000.00 787,500.00 175,000.00 275,000.00 1,350,000.00 175.00 325.00 270.00 750,000.00 175,000.00	
2a 2b 2c 2d 3a 3b 3c 3d 4a 4b 4c	duration of the contract. The City of Clearwater (City) is not General Mobilization shall be per work order as defined by the City. include more than one individual project. The unit price for r Description	Each work nobilization Units LS/WO LF	150,000 25,000	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	7.00 7.00 7.00 7.00 7.00 7.00 7.00 7.00	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	40,000.00 787,500.00 175,000.00 275,000.00 1,350,000.00 600.00 175.00 325.00 270.00 750,000.00	

5a	Tuberculation Cleaning - 8"-10" Diameter	LF	200	\$	6.00	\$ 1,200.00	
5b	Tuberculation Cleaning - 12"-15" Diameter	LF	200		8.00	\$ 1,600.00	
5c	Tuberculation Cleaning - 16"-24" Diameter	LF	200	\$	11.00	\$ 2,200.00	
5d	Tuberculation Cleaning - 30"-36" Diameter	LF	200	\$	22.00	\$ 4,400.00	
6	Manhole Clean/Jet-vac	EA	5,000	\$	170.00	\$ 850,000.00	
	CCTV pipe and manhole inspection with PACP/CUES G	Franite XP	compatibili	ty			
7	Mobilization/Demobilization including Traffic ¹	LS/WO	5	\$	4,000.00	\$ 20,000.00	
8a	CCTV pipe inspection - includes light cleaning - 8"-10"	LF	750,000	\$	2.63	\$ 1,972,500.00	
	Diameter						
8b	CCTV pipe inspection - includes light cleaning - 12"-15"	LF	50,000	\$	3.00	\$ 150,000.00	
	Diameter						
8c	CCTV pipe inspection - includes light cleaning - 16"-24"	LF	25,000	\$	4.50	\$ 112,500.00	
	Diameter						
8d	CCTV pipe inspection - includes light cleaning - 30"-36"	LF	50,000	\$	7.00	\$ 350,000.00	
	Diameter						
9	Manhole Inspection	EA	100	\$	130.00	\$ 13,000.00	
10	Smoke Testing	LF	10,000	\$	1.00	\$ 10,000.00	
11	Dye Testing	LF	5,000	\$	1.00	\$ 5,000.00	
12	Miscellaneous Items						
13	Miscellaneous Markup (10% maximum allowed)				0.075	\$ -	Original amount \$650,345.25 but did not
							include full 10%
TOTA	TOTAL SECTION B =					\$ 	Original total \$9,321,615.25 calculated at
							7.5% contingency

SCRUTINIZED COMPANIES AND BUSINESS OPERATIONS WITH CUBA AND SYRIA CERTIFICATION FORM

PER SECTION III, ITEM 25, IF YOUR BID IS \$1,000,000 OR MORE, THIS FORM MUST BE COMPLETED AND SUBMITTED WITH THE BID PROPOSAL. FAILURE TO SUBMIT THIS FORM AS REQUIRED, MAY DEEM YOUR SUBMITTAL NONRESPONSIVE.

The affiant, by virtue of the signature below, certifies that:

- The vendor, company, individual, principal, subsidiary, affiliate, or owner is aware of the requirements
 of section 287.135, Florida Statutes, regarding companies on the Scrutinized Companies with Activities
 in Sudan List, the Scrutinized Companies with Activities in the Iran Petroleum Energy Sector List, or
 engaging in business operations in Cuba and Syria; and
- The vendor, company, individual, principal, subsidiary, affiliate, or owner is eligible to participate in
 this solicitation and is not listed on either the Scrutinized Companies with Activities in Sudan List, the
 Scrutinized Companies with Activities in the Iran Petroleum Sector List, or engaged in business
 operations in Cuba and Syria; and
- 3. Business Operations means, for purposes specifically related to Cuba or Syria, engaging in commerce in any form in Cuba or Syria, including, but not limited to, acquiring, developing, maintaining, owning, selling, possessing, leasing or operating equipment, facilities, personnel, products, services, personal property, real property, military equipment, or any other apparatus of business or commerce; and

A If awarded the Contract (or Agreeme	ent), the vendor, company, individual, principal, subsidiary							
	otify the City of Clearwater in writing, no later than five (5)							
	Is are placed on the Scrutinized Companies with Activities in							
	with Activities in the Jean Petroleum Sector List, or engages in							
business operations in Cuba and Syria.	with Activities in the trail Petroleum Sector List, or engages in							
	Authorized Signature							
	Daniel Banken							
	Printed Name							
	Area Director							
	Title							
	Inliner Solutions, LLC							
	Name of Entity/Corporation							
STATE OF Florida	75 CONTOCO DE 100 CON							
200 York Washington (19 10 of controlled)								
COUNTY OF Seminole								
The foregoing instrument was acknowledge	ed before me on this 6th day of July							
20 22 , by Daniel Banken	(name of person whose signature is being notarized)							
	of Inliner Solutions, LLC (name of							
corporation/entity), personally known to me								
	ntification) as identification, and who did/did not take an oath.							
Edna V. Tinis NOTARY PUBLIC	Edna V Linis							
STATE OF FLORIDA	Notary Public							
Comm# GG288282	Edna V. Tinis							
Expires 1/3/2023	Printed Name							
My Commission Expires: 01/03/2023								
NOTARY SEAL ABOVE								

SECTION V Page 16 of 17 Updated: 5/4/2020

SCRUTINIZED COMPANIES THAT BOYCOTT ISRAEL LIST CERTIFICATION FORM

PER SECTION III, ITEM 25, THIS FORM MUST BE COMPLETED AND SUBMITTED WITH THE BID PROPOSAL. FAILURE TO SUBMIT THIS FORM AS REQUIRED, MAY DEEM YOUR SUBMITTAL NONRESPONSIVE.

The affiant, by virtue of the signature below, certifies that:

- The vendor, company, individual, principal, subsidiary, affiliate, or owner is aware of the requirements of section 287.135, Florida Statutes, regarding companies on the Scrutinized Companies that Boycott Israel List, or engaged in a boycott of Israel; and
- The vendor, company, individual, principal, subsidiary, affiliate, or owner is eligible to participate in this solicitation and is not listed on the Scrutinized Companies that Boycott Israel List, or engaged in a boycott of Israel; and
- 3. "Boycott Israel" or "boycott of Israel" means refusing to deal, terminating business activities, or taking other actions to limit commercial relations with Israel, or persons or entities doing business in Israel or in Israeli-controlled territories, in a discriminatory manner. A statement by a company that it is participating in a boycott of Israel, or that it has initiated a boycott in response to a request for a boycott of Israel or in compliance with, or in furtherance of, calls for a boycott of Israel, may be considered as evidence that a company is participating in a boycott of Israel; and
- 4. If awarded the Contract (or Agreement), the vendor, company, individual, principal, subsidiary, affiliate, or owner will immediately notify the City of Clearwater in writing, no later than five (5) calendar days after any of its principals are placed on the Scrutinized Companies that Boycott Israel List, or engaged in a boycott of Israel.

Authorized Signature

Daniel Banken
Printed Name

		District Manager				
		Title				
		Inliner Solutions, LLC				
		Name of Entity/Corporation				
STATE OF Florida						
COUNTY OF Seminole						
The foregoing instrument wa 20 22 , by Daniel Banken	s acknowledged be	efore me on this 6th day of July (name of person whose signal	tura is haing notarizad)			
as the Area Director	(title) of h	nliner Solutions, LLC	(name of			
corporation/entity), personall			, or produced a			
		cation) as identification, and who di				
Edna V. T NOTARY STATE O	inis	Notary Public	inis			
Comm# GG288282 Expires 1/3/2023		Edna V. Tinis				
		Printed Name				
My Commission Expires: 01/4	03/2023					
NOTARY SEAL ABOVE						

Ron DeSantis, Governor

Melanie S. Griffin, Secretary



STATE OF FLORIDA DEPARTMENT OF BUSINESS AND PROFESSIONAL REGULATION

CONSTRUCTION INDUSTRY LICENSING BOARD

THE UNDERGROUND UTILITY & EXCAVATION CO HEREIN IS CERTIFIED UNDER THE PROVISIONS OF CHAPTER 489, FLORIDA STATUTES

SUNDERMAN, JOHN ROGER

INLINER SOLUTIONS, LLC 605 SW CHANNEL AVE STUART FL 34994

LICENSE NUMBER: CUC035777

EXPIRATION DATE: AUGUST 31, 2022

Always verify licenses online at MyFloridaLicense.com



Do not alter this document in any form.

This is your license. It is unlawful for anyone other than the licensee to use this document.



Prequalification Packet INLINER SOLUTIONS, LLC.

Note:

Effective 06/21/2022, The name change from Granite Inliner, LLC to Inliner Solutions has been completed. All information related to Granite Inliner, LLC. now apply to Inliner Solutions, LLC.







June 21, 2022

Kathy Sowers
Contracts Procurement Specialist
City of Clearwater – Engineering Department
P.O. Box 4748
Clearwater, FL 33758-4748

RE: Acquisition Complete: Granite Inliner, LLC is transitions to Inliner Solutions, LLC

Inland Pipe Rehabilitation (IPR), an investment affiliate of private equity investment firm, J.F. Lehman & Company, has completed the acquisition of Granite Inliner and its affiliated companies including LiquiForce, Liner Products and Inliner Technologies. As part of this acquisition the Granite Inliner, LLC name has transitions to Inliner Solutions. We have completed the process of filing the appropriate amendments with the state to complete this name change. Please note, only the name has changed. Our legal address, tax ID number(s), and registered agent(s) will stay the same. A copy of Sunbiz.org amendment name change is attached.

While our name will change, our strong commitment to quality work and support of your current and future needs will not. Know that our goal remains as it has always been - to work with our customers and partners to safely execute the work ahead of us and to lead the way with the renewal opportunities of tomorrow.

In the upcoming months, the Inliner companies will further align and combine with the IPR companies that provide CIPP, geopolymer, pipe bursting and potable water lining solutions. We believe this combination will produce the most compelling and competitive trenchless pipe rehabilitation solutions and technologies company in North America. An unmatched product and service portfolio together with an expanded group of professionals, crew team members and equipment will ensure our enhanced ability to provide value to your project and the communities we serve.

Please feel free to reach out to me should you have any questions or concerns. We look forward to remaining your trusted partner and source of support for your infrastructure rehabilitation needs.

If you have any questions, do not hesitate to contact me.

Sincerely,

INLINER SOLUTIONS, LLC

Daniel J. Banken Area Director www.inliner.com

I-CUC035777

Sunderman, John 605 SW Channel Ave Stuart, FL 34994



PINELLAS COUNTY CONSTRUCTION LICENSING BOARD

THIS CERTIFIES THAT John Sunderman
DBA GRANITE INLINER, LLC

STATE CERT # I-CUC035777

HAS FILED HIS/HER LICENSE AND PROOF OF REQUIRED LIABILITY AND WORKERS' COMPENSATION INSURANCE WITH THIS BOARD.

IN GOOD STANDING UNTIL September 30, 2022 DATE OF ISSUANCE 10/08/2021

^{*} Please cut out license along lines

VERIFICATION OF EMPLOYMENT ELIGIBILITY FORM

PER FLORIDA STATUTE 448.095, CONTRACTORS AND SUBCONTRACTORS MUST REGISTER WITH AND USE THE E-VERIFY SYSTEM TO VERIFY THE WORK AUTHORIZATION STATUS OF ALL NEWLY HIRED EMPLOYEES.

THIS FORM MUST BE COMPLETED AND SUBMITTED WITH THE BID/PROPOSAL. FAILURE TO SUBMIT THIS FORM AS REQUIRED MAY DEEM YOUR SUBMITTAL NONRESPONSIVE.

The affiant, by virtue of the signature below, certifies that:

- The Contractor and its Subcontractors are aware of the requirements of Florida Statute 448.095.
- 2. The Contractor and its Subcontractors are registered with and using the E-Verify system to verify the work authorization status of newly hired employees.
- 3. The Contractor will not enter into a contract with any Subcontractor unless each party to the contract registers with and uses the E-Verify system.
- 4. The Subcontractor will provide the Contractor with an affidavit stating that the Subcontractor does not employ, contract with, or subcontract with unauthorized alien.
- The Contractor must maintain a copy of such affidavit.
- 6. The City may terminate this Contract on the good faith belief that the Contractor or its Subcontractors knowingly violated Florida Statutes 448.09(1) or 448.095(2)(c).
- awarded a public contract for at least 1 year after the date on which this Contract was terminated.

7. If this Contract is terminated pursuant to Florida Statute 448.095(2)(c), the Contractor may not be 8. The Contractor is liable for any additional cost incurred by the City as a result of the termination of this Contract. Authorized Signature Daniel Banken **Printed Name** District Manager Title Inliner Solutions, LLC Name of Entity/Corporation STATE OF Florida **COUNTY OF** Seminole The foregoing instrument was acknowledged before me by means of physical presence or online notarization this 6th of July day Daniel Banken (name of person whose signature is being notarized) as the Area Director Inliner Solutions, LLC (title) of of (name corporation/entity), personally known x _, or produced (type of identification) as identification, and who did/did not take an oath.

Edna V. Tinis **NOTARY PUBLIC** STATE OF FLORIDA Comm# GG288282 Expires 1/3/2023

Notary Public Edna V. Tinis Printed Name

My Commission Expires: 01/03/2023 NOTARY SEAL ABOVE